Exercise 12-6A

a.
The cost of operating Condo 2 is shown below:

	Direct labor
	$  9,300

	Operating costs
	21,000

	Overhead*
	6,300

	Total
	$36,600

	
	



*Predetermined overhead rate: 

$20,250 / $67,500 = $0.30 per direct operating cost dollar. 

$0.30 x 21,000 = $6,300


The amount of income earned from Condo 2 is $11,400 (i.e., $48,000 ( $36,600).

b.
Birchtree is a service business that does not produce inventory.  Accordingly, no finished goods inventory balance will be shown on the balance sheet.

Exercise 12-8A

a.

	Quantities
	Actual
	Equivalent Units

	Beginning inventory
	200
	
	

	Units added to production
	800
	
	

	Total to be accounted for
	1,000
	
	

	
	
	
	

	Transferred to finished goods
	600(1)
	x   100%
	600

	Ending inventory
	400
	x     75%
	300

	Total accounted for
	1,000
	
	900

	
	
	
	

	(1)1,000 ( 400 = 600
	
	
	

	
	
	
	


b.

	Quantities:
	Actual
	Equivalent Units

	Beginning inventory
	200
	
	

	Units added to production
	800
	
	

	Total to be accounted for
	1,000
	
	

	
	
	
	

	Transferred to finished goods
	600(1)
	x   100%
	600

	Ending inventory
	400
	x     25%(3)
	100(2)

	Total accounted for
	1,000
	
	700

	
	
	
	

	(1)1,000 ( 400 = 600
	
	
	

	(2)700 ( 600 = 100
	
	
	

	(3)400 * X = 100; X = 25%
	
	
	


Exercise 12-9A  a. and b.

	Cost per Unit
	
	
	

	Cost Accumulation
	
	
	

	Beginning inventory
	$  21,500
	
	

	Transferred-in cost
	41,000
	
	

	Raw materials cost
	19,500
	
	

	Labor cost 
	60,000
	
	

	Overhead cost
	65,400
	
	

	Total to be accounted for
	$207,400
	
	

	
	
	
	

	Cost per unit
	$207,400
	(  3,050
	= $68

	
	
	
	

	Part a:  Cost Allocation
	
	
	

	To finished goods (2,450* units x $68)
	
	$166,600

	To ending inventory (600 equivalent units x $68)
	
	40,800

	Total allocated cost
	
	
	$207,400

	*3,050 ( 600 = 2,450
	
	
	

	Part b:  Cost Allocation
	
	
	

	To finished goods (2,800 units x $68)
	
	$ 190,400

	To ending inventory (250* equivalent units x $68)
	
	17,000

	Total allocated cost
	
	
	$207,400

	*3,050 ( 2,800 = 250
	
	
	

	
	
	
	


Problem 12-17A

	Cost of Production Report for Hamby Company

	Schedule of Equivalent Units (a.)
	
	

	Quantities:
	Actual
	Equivalent Units

	Beginning inventory
	250
	
	

	Units added to production
	2,000
	
	

	Total to be accounted for
	2,250
	
	

	
	
	
	

	Transferred to finished goods
	1,500
	x 100%
	1,500

	Ending inventory
	750
	x   60%
	450

	Total accounted for
	2,250
	
	1,950

	
	
	
	

	Cost per Unit (b.)
	
	
	

	Cost Accumulation
	
	
	

	Beginning inventory
	$  3,420
	
	

	Cost added to production
	27,000
	
	

	Total to be accounted for
	$30,420
	
	

	
	
	
	

	Cost per unit
	$30,420
	(  1,950
	= $15.60

	Cost Allocation (c.)
	
	
	

	To finished goods (1,500 units x $15.60)
	
	$23,400

	To ending inventory (450 equivalent units x $15.60)
	
	7,020

	Total allocated cost
	
	
	$30,420


